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QUESTION 1

An administrator is currently using both 10g uplink with LACP and balance-tcp. A single VM should not be allowed to
use more than a single 10G uplink, and both uplinks should be utilized. Which two command should be used to
configure the bond? (choose two)

A. Ovs-vsctl set port brO-up bond_mode=balance-slb

B. Ovs-vsctl set port brO-up bond_mode=balance-tcp

C. Ovs-vsctl set port brO-up bond_mode=active-backup

D. Ovs-vsctl set port brO-up other_config: bond-rebalance-interval=30000

Correct Answer: AD

QUESTION 2

A customer has a Nutanix cluster with 10Gb connectivity via switch fabric extenders. The administrator receives NCC
health check errors of latency greater than 200ms. Which action should the administrator take to resolve the NCC
errors?

A. Replace the switch fabric extenders with 10G line rate switches

B. Upgrade NCC and increase the CVM memory by 4Gb

C. Add 2 additional 10G uplinks from the switch fabric extenders per node

D. Upgrade NCC and increase the vCPU of the CVM

Correct Answer: A

Ref: https://portal.nutanix.com/page/documents/details?targetld=System-Specs-G6-Single-Node:set-block-connect-
c.html

QUESTION 3

An administrator is deploying Nutanix Files 3.5 and needs to configure the sizing of the FSVMs for an increased number
of concurrent SMB connections over the default 750. What should the administrator do?

A. Deploy the Files VMs. power down the three FSVMs. change the CPU and RAM via Prism, and then power the three
FSVMs back up

B. During installation, click Customize on the File Server Installation screen, change the number of connections, and
finish the installation

C. Complete the default installation change the CPU and RAM m Prism, and then log into the File Server dashboard
and change the Filer Server Properties

D. During installation, input the correct number of connections in the File Server Installation screen and complete the
installation
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Correct Answer: B

Ref: https://portal.nutanix.com/page/documents/details?targetld=Files-v3_6:fil-file-server-manage-c.htmi

QUESTION 4

An organization is planning an upgrade to AOS 5.15 and wants to understand which cluster products and/or services
are supported for physical traffic isolation. Which Nutanix component supports its network traffic being isolated onto its
own virtual network?

A. Volumes

B. Objects

C. Containers

D. Files

Correct Answer: A

QUESTION 5

A Nutanix cluster is deployed with the following configuration:
1.

Three four-node blocks (A, B, and C)

2.

All Flash Redundancy Factor 2

What is the effect of simultaneous disk failures on two nodes located in block A?
A. VMs are migrated off of the nodes with disk failures.

B. Each node with a failed disk is marked as degraded.

C. VM read and write operations continue normally.

D. VMs on the nodes with failed disks are unable to write data
Correct Answer: D

Ref: https://next.nutanix.com/how-it-works-22/redundancy-factor-vs-replication-factor-37486
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